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C1 New Snowfall and Snow Water Equivalent

M
R ?9,\() ,9'9 ?@,\Q ?9,\() @,@ 2 S '\?\,\Q \,:\Q ?{\,\Q '\?\,\Q .\I\Q SRS ({} ({’\ R q:\ d} rf,\() {!39 ,{i@ {f-\ﬁ {i@ ,(1',9 {i\o &5\ qj\{\ 0}\,\»\ ?\p{\'\ ';,\r\ o;:\v\
W, q’ff,} (ﬁ; P - e A .- ({’!, q’tn ‘,§) @ A ,\b-c o A QS) q:\ (ﬁ; Pl R RS R K
Date (DD/MM/YY) - Non-uniform scale
|I snow cm O Snow water equivalent mm
C1 Accumulated Snowfall and Snow Water Equivalent / Air Temperature
Date (MM/DDYY)
] ] ] Q ] 2 M
L COIEE o\ S LR Ve . BN BN WY ok R Ny A
@ff& @ § o i '9\@ '\'\“ﬁ '\'\@ \"“ﬂ '\'&'& *(9}‘\ \'iy\ «'ﬁr@ \‘-‘% ,\\?} '{\“6 'l\rr:&
U 1 1 1 1 1 L 1 1 1 1 1 1 1 1 EU
10 Can you interpret the Accumulation
20 - Graphs in terms of snowpack layers —s— accum snowfall + 55
30 4 developing with time? SWE
Rotate counterclockwise so early dates AL T 50
40 1 are the bottom of pack, and snow —— Tmax
50 accumulates upwards. . T45
60 —o—Tmin
?U B T 40
el 135
90 +
100 - T30 O
110 @
120 - 1% 5
130 - T20 £
140 o
150 A T+ 15 E
160 =
170 11 =
180 1y =
190
200 0
210 A
220 - T5
230
+ -10
240 4
250 A T -15
260 At the same time what does the temperature 1 ap
270 ~ record say about metamorphosis of the pack? k
280 4 og
290 A
300 -30




